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o; kf7\oqmdnfO{ b'O{ r/0fdf ljefhg ul/Psf] 5 . 

k|yd r/0f  – lnlvt k/LIff k"0ff{Í M @)) 

låtLo r/0f –  

 ;"rgf k|ljlw ;Lk k/LIf0f k"0ff{Í M !) 

 cGtjf{tf{ k"0ff{Í M #) 

lnlvt k/LIff of]hgf (Written Examination Scheme) 

 

kq ljifo k/LIff k|0ffnL k|Zg;+Vof x cÍef/ ;do k"0ff{Í pQL0ff{Í 

k|yd 
;fj{hlgs 

Joj:yfkg 
ljifout(Subjective) 

$ k|Zg x !)cÍ 

!@ k|Zg x %cÍ 

# 

306f 
100 40 

låtLo 
;fj{hlgs ;+:yfg

Joj:yfkg 

ljifout -;d:of ;dfwfg 

Pj+ gLltut 1fg / ljZn]if0f_  

(Subjective - Problem 
Solving, Policy Knowledge 

and Analysis) 

;d:of ;dfwfgM 

@ k|Zg x @) cÍ 

1fg / ljZn]if0fM 

^ k|Zg x !)cÍ 

 

# 

306f 100 40 

 

b|i6Jo M 

!= k|To]s v08sf nflu 5'§f5'§} pQ/ k'l:tsfx? x'g]5g\ . 

@= lnlvt k/LIffsf] dfWodefiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g ;Sg]5 . 

#= o; kf7\oqmddf h];'s} n]lvPsf] ePtfklg kf7\oqmddf k/]sf P]g, lgodx? k/LIffsf] ldlteGbf # dlxgf cufl8 

-;+zf]]wg ePsf jf ;+zf]wg eO{ x6fOPsf jf yk u/L ;+zf]wg eO{_ sfod /x]sfnfO{ o; kf7\oqmddf k/]sf] 

;Demg' kb{5 . 

$= kf7\oqmd nfu' ldlt M–  

 

låtLo r/0f k/LIffx? 

 

ljifo k"0ff{Í k/LIff k|0ffnL ;do 

;"rgf k|ljlw ;Lk k/LIf0f  

(Information Technology Skill Test) 
10 # k|of]ufTds(Practical)  @) ldg]6 

JolQmut cGtjf{tf{ (Individual Interview) 30 df}lvs(Oral)  
 

 

# k|of]ufTds k/LIff of]hgf(Practical Examination Scheme) 

ljifo k"0ff{Í ljifoj:t' lz{ifs cÍ ;do 

;"rgf k|ljlw ;Lk 

k/LIf0f (IT Skill Test) 
!) 

Devanagari Typing @=% cÍ % ldg]6 

English Typing @=% cÍ % ldg]6 

Word processing @ cÍ 

!) ldg]6 

Electronic Spreadsheet ! cÍ 

Presentation System ! cÍ 

Windows basic,  Email and Internet ! cÍ 

hDdf !) cÍ @) ldg]6 
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c+u|]hLjf b]jgfu/L Typing Skill Testsf] nflu lgb]{zgM– 

1. b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbfsd z'4 zAb k|lt ldg]6 afkt ) c+s 
 % jf ;f] eGbf a9L / &=% eGbfsd z'4 zAb k|lt ldg]6 afkt )=%) c+s 
 &=% jf ;f] eGbf a9L / !) eGbfsd z'4 zAb k|lt ldg]6 afkt )=&% c+s 
 !) jf ;f] eGbf a9L / !@=% eGbfsd z'4 zAb k|lt ldg]6 afkt !=)) c+s 
 !@=% jf ;f] eGbf a9L / !% eGbfsd z'4 zAb k|lt ldg]6 afkt !=@% c+s 
 !% jf ;f] eGbf a9L / !&=% eGbfsd z'4 zAb k|lt ldg]6 afkt !=%) c+s 
 !&=% jf ;f] eGbf a9L / @) eGbfsd z'4 zAb k|lt ldg]6 afkt !=&% c+s 
 @) jf ;f] eGbf a9L / @@=% eGbfsd z'4 zAb k|lt ldg]6 afkt @=)) c+s 
 @@=% jf ;f]eGbf a9L / @% eGbfsd z'4 zAb k|lt ldg]6 afkt @=@% c+s 
 @% jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

 

2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text  lbOg]5 / b]xfocg';f/ c+s k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 
 ^ jf ;f] eGbf a9L / ( eGb fsd z'4 zAb k|lt ldg]6 afkt )=%) c+s 
 ( jf ;f] eGbf a9L / !@ eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 
 !@ jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 
 !% jf ;f] eGbf a9L / !* eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 
 !* jf ;f] eGbf a9L / @! eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 
 @! jf ;f] eGbf a9L / @$ eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 
 @$ jf ;f] eGbf a9L / @& eGb fsd z'4 zAb k|lt ldg]6 afkt @=)) c+s 
 @& jf ;f] eGbf a9L / #) eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 
 #) jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text ;Fu le8fO{ r]s ul/g]5 . 

lbOPsf] c+u|]hL jf b]jgfu/L Text dfpNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] Text df Punctuation 

6fOk gu/]sf] kfOPdf To;nfO{ zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg Formula k|of]u u/L z'4 zAb k|lt 

ldg]6 (Correct words/minute)  lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6(Correct words/minute) =
(Total  words  typed  − Wrong  words )

5
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k|ydkq 

;fj{hlgs Joj:yfkg 

 

Section (A) 

25 marks (10 marks x 1 question, 5 marks x 3 questions) 

!=  k|zf;g / Joj:yfkg 

 !=! ;fj{hlgs Joj:yfkgsf cfwf/x? 

 !=@ clwsf/ k|Tofof]hg, ;dGjo, ;'kl/j]If0f, cg'udg tyf d"Nof+sg 

 !=# Joj:yfkg ;"rgf k|0ffnL ty fclen]v Joj:yfkg 

 !=$  kl/jt{g Joj:yfkg 

 !=% åGb Joj:yfkg / tgfj Joj:yfkg 

 

 

Section (B) 

25 arks (10 marks x 1 question, 5 marks x 3 questions) 

@=  ;fdflhs tyf cfly{s dfldnfx? 

@=!  ;fdflhs Gofo tyf ;dfgtf 

@=@  ;fdflhs ;dfj]zLs/0f / ;sf/fTds lje]b 

@=#  ;fdflhs ljljwtf / Pstf 

@=$  cfly{s j[l4 tyf cfly{s ljsf; 

@=%  cfly{s ljsf;df ;fj{hlgs If]q, lghL If]q / ;xsf/L If]qsf] e"ldsf 

@=^  ul/jL / j]/f]huf/L 

 
 

Section (C) 

50 marks (10 marks x 2 question, 5 marks x 6 questions) 

#=  ;fj{hlgs >f]t Joj:yfkg / of]hgf 

1. ;fj{hlgs ;]jfdf g}ltstf 

2. dfgj>f]t Joj:yfkgM k|flKt, ljsf;, pkof]u / ;Def/ 

3. pTk|]/0ff / dgf]jn 

4. ;fj{hlgs ljQ Joj:yfkg 

5. sDkgLsf] n]vf k|0ffnL / n]vfk/LIf0f k|0ffnL 

6. ;fdflhs pQ/ bfloTj 

7. ljsf; of]hgfsf] ;}4flGts kIfx? Tyf rfn" cfjlws of]hgfsf] hfgsf/L 

8. ;xeflutfd"ns of]hgf k4tL 

 

=============== 
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låtLokq 

;fj{hlgs ;+:yfg Joj:yfkg 

 
Section (A) 

50 marks  

(Problem Solving: 20 marks x 1 question,  

Knowledge and Analysis:10 marks x 3 questions) 

 

-!_ ;fj{hlgs ;+:yfg Joj:yfkg 

!=! ;fj{hlgs ;+:yfgsf ;}4flGts cfwf/x? 

!=@ g]kfndf ;fj{hlgs ;+:yfgx?sf] l:ylt ;dLIff 

!=# ;fj{hlgs ;+:yfgsf] of]hgf th'{df sfof{Gjog / d"NofÍg k|lqmof .  

!=$ s[lif ;fdu|L sDkgLsf] p2]Zo, lqmofsnfkx? 

!=% s[lif ;fdu|L sDkgLn] g]kfnsf] cfly{s ljsf;df v]Ng] e"ldsf . 

!=^ s[lif pTkfbgsf dnvfbsf] dxTj / pkfb]otf .  

!=& /f;folgs dnvfb cfoft tyf ljqmL ljt/0fdf b]lvPsf ;d:ofx? / lg/fs/0fsf pkfox? .  

!=* /f;folgs dn laqmL ljt/0fdf ;xsf/L ;+:yfsf] cfjZostf / dxTj . 

 
 

Section (B) 

50 marks  

(Problem Solving: 20 marks x 1 question,  

Knowledge and Analysis: 10 marks x 3 questions) 

 

-@_  gLltut tyf sfg"gL Joj:yf 

@=!  s[lif gLlt, dn gLlt / cfk"lt{ gLlt 

@=@  s[lif ;fdu|L sDkgL lnld6]8sf] k|aGwkq / lgodfjnL . 

@=# s[lif ;fdu|L sDkgL lnld6]8sf] sd{rf/L k|zf;g lgodfjnL / cfly{s k|zf;g lgodfjnL 

@=$  ;fj{hlgs vl/b P]g tyf lgodfjnL 

@=% sDkgL P]g 

@=^ jf]g; P]g  

@=& e|i6frf/ lgjf/0f P]g 

 

===========;dfKt========== 


